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Nikhil Singh 23 hours ago

The answer for the above gquestion is
C,DF A B,E
THANK YOU FOR THE SESSION

by &R REPLY

+ View reply from Mahendras : Online Videos For Govt. Ex:

Mohit.. 22 hours ago

Thank-you madam for this Amazing Class Session of today's.. {\,
And

My Answer for today's homework is like-

Read more

oy GF REPLY

+ View reply from Mahendras : Online Videos For Govt. Ex:

Bhavika Kotai 4 hours ago
Hw. Answer. CDFABE
Thank you mam for this amazing session

oy GF REPLY

v View reply from Mahendras : Online Videos For Govt. Ex:

™ at 11:30 AM

debasish chakraborty 16 hours ago

Homework : CDFABE
THANK YOU MAM. AWESOME SESSION.

b GP  REPLY

w View reply from Mahendras : Online Videos For Govt. Exams

Sonam Pundir 23 hours ago
Hw. C>D>F>A>B>E

Thank you ma'am for awesome session @ @

b GP  REPLY

v View reply from Mahendras : Online Videos For Govt. Exams

Rahul Bhakat 15 hours ago
C>D(119)>F=A=B(56)>E
Thank you ma'am!

b GP  REPLY

v View reply from Mahendras : Online Videos For Govt. Exams
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Dipali Agarwal 21 hours ago
C=D{119)= F> A= B(56)> E

g GR REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

@ Nabanita De 22 hours ago
: H.W-C,D,FAE,E.D-119kg,B-56kg. Thank u ma'am.

dh GF  REPLY

» View reply from Mahendras : Online Videos For Govi. Exams

Rahul Bhakat 15 hours ago

Nadeem 16 hours ago
C=D(119)=F=A=B(56)=E

0

& Homework
Thank you ma'am! @C>D(119kg) > F > A>B(56kg) > E
& GB  REPLY & Thank you Mam@) » @

by &P  REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams
+» View reply from Mahendras : Online Videos For Govi. Exams

shubhangi mishra 18 hours ago

H .w ans.
CD-119,F A B-56,E
THANK you ma'am

@b 5P REPLY

v View reply from Mahendras : Online Videos For Govi. Exams


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 A/ (@)

Six Boxes A, B, C, D, Eand F are in
different weights but not necessary in the
same order. Only two boxes are lighter
than A. Box F is lighter than C and D. Box D
is not the heaviest one. Box B is lighter
than F but Heavier than E. The Second
heaviest box weight is 119kg and the
second lightest box weight is 56kg.

D | 4

o: f8sd A, B, C, D, E 3T F 37eT91-37e1T AT
H § Afhet 3Ty At fF sdr FA A &l
Fadal Bed AT ger ¢l BearF, c3RD
A godl ¢l f2=a1 D Ta@ AN BT &1 d1FH
B, F § 0T § Aifehel E & HIY 81 g Wa

» g T ST FT T 119kg § 3R g g9
m gooh SIaFH T dofeT 56kg B
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@b

C>D (119kg)>F>A>B (56kg) >E L LI VAUETNRTHCEET I TS @ ET N
FA fFasr Bsa smlr 872

a) One b) Two c) Three d) More than Three e) Cannot
be determined

39) If B+A = 120kg, and D+F is 200kg then what is the
sum of weight of box A and F? If& B+A = 120kg, 3l
D+F 200kg &, @ afFq A3 F& TofeT FT IWT FT
g7

a) 135 kg b) 150 kg c) 145 kg d) 120 kg e) 180 kg

40) If Box G is exactly lies between D and B. Then what
will be the possiple weight of G'.-" gfe f8=ar G, D 3T
BF & dg & g1 Y G &1 wfaa s fohaer
gIem?

a) 60kg b) 55kg c) 120kg d) 135kg e) 48kg
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|1 AfFa K, L, M,N,O,P3RQFARTHI  Seven persons K, L, M, N, O, P and Q live in
%mf%ﬁggl%ﬁ%; eight different floors of the building such that
gﬁfﬁﬁ%;ﬁ%@mﬂ?% floor above 1 i1s numbered as 2and so on, until
8. SHRT & tF Aforar @ § A Al & the topmost floor is numbered as 8. One of
HIS AL W@aT gl the floors is Vacant in the building no one
p gieft AT W EAT§ 1 P & FuT v lives in that floor.

TEAT AR ATA AJF TR AN AFIEIL  p Jives in fourth floor. One of the odd number
3T P & o gt AfFd WA 81 L, P & I floors above P is vacant floor. Two person
Igar gl N 3R M & &g v afFa gar g . .

M, Q & $1F F9TTEATE1 0, N ¥ FIT TEaT ¥ lives between L and P. L lives above P. One

K, N & AT @ar gl o @relt AfSra & A gt | Person lives between N and M. M lives just
Igdarel above Q. O lives above N. K lives below N. O

does not live below vacant floor.

!, L e G

bottommost floor is numbered as 1 and the


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ n

Seven persons K, L, M, N, O, Pand Q live
In eight different floors of the building
such that bottommost floor is numbered
as 1 and the floor above 1 is numbered as
2and so on, until the topmost floor is
numbered as 8. One of the floors is
Vacant in the building no one lives in that
floor.

P lives in fourth floor. One of the odd
number floors above P is vacant floor.
Two person lives between L and P. L lives
above P. One person lives between N and
M. M lives just above Q. O lives above N.
K lives below N. O does not live below
vacant floor.
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Who lives just above the vacant floor?

I nMand O? .
ke Gl N M ETet AOHT & 8% IR P g 87
» One 3
by TWO » L
» Three 3 ©
o Four o M
s None of these 0 Q

Who Ii\(es on first floor?
ggell AT W FleT T@ar 72
a) I_

o None of these
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mm If all the persons live according to alphabetical order from bottom to topmost
floor, then how many persons will remains unchanged?

e wsft safFa auis & 3RTER A @ ¥ 390 AT oF T
% Eﬂﬁ»—clﬁ-aﬁ?rswﬁaﬁal%ﬁ?

Two
by Three

o One
d None
ey More than three

Who lives immediately above K?

Ka& & IO HleT @ar g7

o Q

ey  None of these
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Seven people A, B, C, D, E, F and G went to three different cities viz., New York, Paris and London. At
least two and not more than three person went to same city. Two of them are working in TCS and two of
them are working in Wipro, one person working in Facebook, one person working in Infosys and one
person working in CTS. C works in TCS and went to New York. D works in Wipro and went to London.
E and F went to same city. B went to Paris. One of the people working in Wipro went to Paris. Only B
and G went to same city. A works in TCS and does not went to London. B and D works in different
company. The one who works in Facebook and Infosys went to same city. F does not work in Facebook.
B does not work in Wipro.

|1 SATFA A, B, C, D, E, F 311X G oot Irerer-3rerer 2rgt 3rdTa «q3ies, IRW 3 oiget 10| 7 F FA a1 3K
Eﬁ?rﬁaaﬁa:-qﬁ-?rwé’ramﬁaﬁmlm#amﬁmw@%aﬁtmﬁ#ﬂﬁm#mwr&
¥ U IfFd HadF A FTH FI @I 8, TF SHIAF A F1H FI 36T 8 3 v afFa D Ava A s FI @I ¢,
Tcsﬁmmﬁ?aﬁtwr%wm%l D FawY 3 1 Far & 31T eeeT Ter aT) E R FUH @ aE A
T B IR TAT| TG 3 F1o7 T aTer 11 3 & v AR 3737 A7) Faer 8 3K 6 TH A AT A AT A, TCs A
HI FIAT & 3R s AT ST 8| Baﬁtnmmm?ﬁﬁmaﬂﬁ%lag—aﬁ?rsnracebookaﬁt
Infosys ¥ FT FIAT B, TF 81 AT A ATAT | F B H F1 781 FAT ¢ | Bﬁm#maﬁm%lr 7
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Seven people A, B, C, D, E, F and G went to
different cities viz., New York, Paris and London.
At least two and not more than three person went
to same city. Two of them are working in TCS and
two of them are working in Wipro, one person
working In Facebook, one person working In
Infosys and one person working in CTS. C works
In TCS and went to New York. D works in Wipro
and went to London. E and F went to same city. B
went to Paris. One of the people working in Wipro
went to Paris. Only B and G went to same city. A
works in TCS and does not went to London. B and
D works in different company. The one who works
In Facebook and Infosys went to same city. F does
not work in Facebook. B does not work in Wipro.
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Who among them went to New York? Who went to London? elEsT Sie 31T UT?
395 ¥ FiT —erma% IRAT AT? a A
a EandA p B
py AandC 0 C
o CandF o G
o FandD ey None of these
ey None of these
G works in which of the following compan
e e Gl
_ FT 72
New York

C) TCS
a9 Facebook
_ ey None of these
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0] /')Al E and Fworking in which of the following companies?

E3ﬁT Flarafaf@a & ¥ 79 Fo0 & F&f a7 @ &2
Facebook and CTS

p) Wipro and Infosys
¢ TCS and Facebook

—“ ¢y Infosys and Facebook
es None of these

London

T s
_ B works in which of the following company?
Bfarfaf@a # & Fa st # s-F war 82

ay CTS

by TCS

o  Wipro

d Facebook

e) Data insufficient
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Statements:
All Sea is River

Some Sea Is Water
No Water is Dirty
Conclusions:

No River is Dirty
Some Sea Is not Dirty

O \YAR (][

Only |1 follows

Either | or 11 follows
Neither | nor Il follows
Both I and 11 follow

Statements:
No lift is Steps

Some Steps are Block
All Room is Block
Conclusions:

Some Lift iIs Room
No Lift is Room

Both | and Il follow
Only 11 follows

Either | or Il follows
Neither | nor Il follows
Only | follows
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All Rain is Cloud
No Rain is Soil
All Soil is Tree
Conclusions:

Some Cloud is Soil
Some Tree IS Rain

Only | follows

Only 11 follows

Either | or 11 follows
Neither | nor Il follows
Both | and 11 follow

Statements:

All Pig is Lion
All Lion is Tiger
Some Pig iIs Goat
Conclusions:

Some Goat is Not Tiger
Some Lion 1s Goat

Only | follows

Both | and 11 follow
Either | or 11 follows
Neither | nor 11 follows
Only Il follows

O
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Statements:
Some Cake is Sweet

No Sweet Is Sugar
Some Sugar is Red

Conclusions:
. Some Cake Is not Sugar

. Some Red is not Sweet

s Only | follows

o) Only Il follows

o Either I or Il follows

d) Neither | nor Il follows
ey Both I and Il follow
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Study the following information carefully to answer the given questions:

Seven persons are lives in building which have seven floors. The bottom most floor is
numbered as 1, and the floor above 1 is numbered as 2 and so on till the topmost
floor is numbered as 7. Not more than three persons live above A. B lives
immediately above A. Two person lives between B and C. D lives immediately above
G and lives in even numbered floor. F lives above E. F doesn’t lives in 5th floor.

AT A TFd 39 AR # (6 d ¢ 99# ard #f9rer 81 9@ el Afdar Fraean1 g,
IR1FFWH AT A IEAr2 g 3NN RE TR I AT A ACAT 781 A S
R it & 371f0F cafFa 781 WA 81 B, A F 81 IR a1 81 B F ol Y ¥ W@l
813X C. D, G & & FUX TEdT1 8 31X I g1 arell AT W IBATRI F, EH 3R
IgdT gl F, 54 df YT T8I gt g
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Study the following information carefully
to answer the given questions:

Seven persons are lives in building which
have seven floors. The bottom most floor
is numbered as 1, and the floor above 1 is
numbered as 2 and so on till the topmost
floor is numbered as 7. Not more than
three persons live above A. B lives
immediately above A. Two person lives
between B and C. D lives immediately
above G and lives in even numbered floor.
F lives above E. F doesn’t lives in 5th floor.
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1) How many person lives between F and C?

F3IR c& Ay fFda =afea wa &2

a) One b) Two c) Three d) More than Three e) None

-y

2) What is the position of C with respect to the top of
the floor?

Ao & MY & Tl & C T TUT F47T 87

a) 6th b) 4th c) 3rd d) 5th e) 2nd

3) If all the persons are arranged alphabetical order
from top most floor to bottom most floor, then how
many persons floor remains unchanged? gfe st

gfFdal # 998 I Ao & 999 A= ad
fhaer saiFaal 1 #forer saRafda @t §7

a) 1 b) 2 ¢) 3 d) More than three e) None
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4) If F is related to A, similarly E is related to D in the
given arrangement, In the same way Cis related to ___ ?

aﬁF,A#mH%,mwfrﬂ?‘w
DA eI &, M yFR ¢, & Fafaq &7

a) Eb) D c) G d) B e) None of those given as option

5) Which of the following is true in the given
arrangement?

dr ¢ yaTT A Aefa@d & ¥ Fi9 a1 97 872
a) E lives is 4th floor

b) Two persons are lives between B and D

c) Number of person’s lives above D is same as below A
d) Four persons are lives above C

e) Both (a) and (d)
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\(éﬁf only conclusion | follows

(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion | nor Il follows
(e) If both conclusion | and Il follow

6) Statements
Only a few well are Mats
All Pillows are Mats

Conclusions

I. All well Can Never be Pillow
II. At least Some Pillows are well

7) Statements
All Bamboo are Stick
No Bamboo is a Duster

Conclusions

I. No stick is a Duster

II. Some Stick are Duster


http://www.mahendras.org/

\(‘Erﬁf only conclusion | follows

(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion | nor Il follows
(e) If both conclusion | and Il follow

SBI CLERK 2022 / /mmmat 11:30 AM/

8) Statements

Only a few Bottles are Lamps

No Bottle is ship

Conclusions

I. Some Ship are definitely not Lamps
II. All Lamp can never be Ship

9) Statements
Only a few Boxes are Book

All Books are Pens
Conclusions
I[. Some Boxes are Pens

II. All Pen can never be Boxes


http://www.mahendras.org/

SBI CLERK 2022 / /mmar 11:30 Av/ (@)

Certain numbers of persons are sitting in a row facing north. M sits fourth to tI;
right of S. Five persons are sitting between M and X. X sits third to the left of P.
No one sits to the right of N, who sits immediate right of P. Four persons are
sitting between S and U. T sits one of the positions to the left of S. The number of
persons sitting between M and U are same as between S and T. Q is second from
one of the extreme ends. Not more than two persons sit between Q and U.

fAftaa a=aT A afFq 39X i 3 AG & TF YFd A 46 &1 M, S &
g ¥ 9 Tue W der {1 M3k %:a"lirmir—zrﬁ—crﬁ%%‘lx,laﬂ:aﬁ
AN AT RIBTIINNFIIREAG o1&, ST PHF ]
%IUTs$a1§3ﬂT%\=ﬁW T 9T daT 31 M 3R U

31F grt dor
i 43
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Certain numbers of persons are sitting in a
row facing north. M sits fourth to the right
of S. Five persons are sitting between M
and X. X sits third to the left of P. No one
sits to the right of N, who sits immediate
right of P. Four persons are sitting between
S and U. T sits one of the positions to the
left of S. The number of persons sitting
between M and U are same as between S
and T. Q is second from one of the extreme
ends. Not more than two persons sit
between Q and U.
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11) Who sits immediate right of T?
TH & g Hier dar 872
a)Sb)Uc)Qd)Pe) Noone

12) As many person sits to the left of U is same as to the

rightof _ ?
UF TE IR A aRa R E saa§

arg A A3 &
a)Xb)Uc)Pd)Te)S

13) How many persons are sits between M and N?

M 3T NF 7T frds =afda 48 82
a)8b)7c)11d)4de)9
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M X P N

14) If A sits exactly between S and M then what is
the position of X with respect to A?

a) Fourth to the left

b) Immediate right

c) Eighth to the right

d) Seventh to the left

e) Fifth to the left

15) How many persons are sitting in a row?

a)23b)24c)17d)19e) 21
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BR1:-=30% Seven persons are sitting in circular tabF
| facing centre. Only one person sits
between R and P. T sits third to the right
of R. V sits third to the left of S who is
not an immediate neighbour of P. Q and
U are not immediate neighbours. U sits
second to the left of V.

T SATFd gAThR A X g T 3R
3@ BIFT 45 §1 R 3R p & e et
U AP daTg 1 T, R F S A iy
TYTT G ST V, § F 97¢ & A T4TeT
9T 3378, St P FT freheder wsidt wigi 2
Q 3 U AFeaa A 7@ eI v, vEH
o & G T W AT 8
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16) Who sits immediate left of R?

R& &% a1 Hid o1 8?2

a) The one who sits immediaterightof U b)Q )T
d)The one who sits immediate right of P

e) None of those given as option

17) How many persons sits between U and V when counted to
the left of V?

VE aF ¥ i W UK V& Aeg fFaa safea 48 £2

a) One b) Two c) Three d) None e) More than three
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18) What is the position of Q with respect to P?

PF Hegsl A QFT TAT AT 87

a) Third to the left b) Third to the right c) Immediate left d) Second
to the right e) Fourth to the right

19) If all the persons are arranged alphabetical order starting from
P in clockwise direction, then how many persons remains
unchanged from his previous position (Excluding P)?

afg gaft safFaal #1 P& Y& & cfaromad feam A
quitelshd A eFaffyd fFar arar 8, oY fFasr safea srgeh
o RUfY (P#) Slg) ¥ uRafda wa 2

a) One b) Two c) Three d) More than three e) None
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"(a)if only conclusion I follows 21). Statement: P>E>Z; R<E
(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion I nor Il follows I) R<P
(e) If both conclusion | and Il follow I1) P=R

Conclusion:

22). Statement: S<V>A>T>Y
Conclusion:

DY<V

IIA>S
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“(a)If only conclusion I follows 23) Statement: K< Q<F=N;R2=>F
(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion I nor Il follows I) N<K
(e) If both conclusion | and II follow II)R > Q

Conclusion:

24) Statement: E = B =

Conclusion:

I)K=>E
II)D > B
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Ten persons are sitting in two parallel rows such that J, K, L, M, and N are sitting in
Row 1,facing south and A, B, C, D, and E, are sitting in Row 2 facing north. J sits
second from the extreme end of the row. Only one person sits between D and the
one who faces J. Two persons sits between B and E. M sits second to the left of the
one who faces B. K sits third to the right of the one who faces A. L doesn’t faces B.

& Ifed &Y AR YiFdA A SH YRR a5 ¢ 99 J, K, L, M 31T N g 1 & fayor
FI IR IFAG NI IS e IR IFT2HA, B, C, D IR EFTTR A IR AT F & 4S5 &1 )
G & 3ifaer BN @ @Y FuTe W do1 §1 D 3R 1 A 3R Sy safea & v daw
U eqfad do1 81 B 3 £ & = gy safFa 43 81 M, B i 3R 37w eafaa F e @
Fgrrrrwﬁar%l K, A FY AR 37HE AfFT F ST & H FATT G AT 81 L T8

| t T W B.
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Ten persons are sitting in two
parallel rows such that J, K, L, M, and
N are sitting in Row 1,facing south
and A, B, C, D, and E, are sitting in
Row 2 facing north. J sits second
from the extreme end of the row.
Only one person sits between D and
the one who faces J. Two persons
sits between B and E. M sits second
to the left of the one who faces B. K
sits third to the right of the one who
faces A. L doesn’t faces B.
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26) Who sits immediate left of N?
N& 1 I &9 dor 872

a) M b) The one who faces C c) R
d) The one who faces D e) None of those
given as option

27) Who sits second to the left of the one who sits
opposite to L?

LF Aol 49 =afda & av § qE ¥ W &I
dar 87

a) B b) D c) Cd) E e) None of those given as option

28) Who among them sits at extreme end of the row?
38 ¥ FiT 9fFd & 3faxw sR W ot 87
a)N,Mb)B,Jc)L,Ad)B, N e)Both (c) and (d)
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29) What is the position J with respect to N?
N& Tegst & )T T F4T 872

a) Second to the left b) Immediate left

c) Immediate Right d) Second to the right
e) Third to the left

30) Four of the five among the following are similar in such a
way to form a group, which one of the following doesn’t

belong to the group?
ffaf@a & @ g 7 § 9% v ¥ 99 F @A

AT ¢, ﬁmﬁﬁa##mm#mﬁaﬁ%’?
a) N,D b) B, K c)J, A d) M, D
e)C L
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